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HR3—2 BEMICERT HLEESNHEHEETHEE1/1) ) _ ) _ REEE | Porn
SEfRHOAE | #EEE | 17781060 ERT4 \ -1 | FRTEMh | EFERLERE KT
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ﬁ;ﬂg TREOBEBOEILEHOKRES TREOHBEILNOKRES TEFEOBRBOEILHOKRES TREOHBSSLADKRES
7 100kN/mM#8Z % — - ~ — —|3mZEBZB| — ~ — — — | 100kN/mM%#8% % — - ~ — —|3m%iBZ % - ~ — — —
st 1.00 | 0.00 ~ 465 57.94 | #nLS | 000 ~ 4.65)| 1.85 9.37 Thst 1.00 | 5.00 ~ 5.00 57.94 | =hLs | 5,00 ~ 5.00| 1.85 9.37
2 100kN/mM%#BZ % — - ~ — —|3mZEB2B| — ~ — — — | 100kN/mM%#8% % — - ~ — — |3ImEBZD - ~ — — —
zhLst 1.00 | 0.00 ~ 695 88.15 | =hLs | ooo ~ o000 1.71 8.64 znLst 1.00 | 6.00 ~ 867 8815 | #nst | 5,00 ~ 867|171 8.64
3 100kN/mM%#BZ % — - ~ — —|3mZEB2B| — ~ — — — | 100kN/mM%#8% % — - ~ — — | 3ImEBZD - ~ — — —
st 1.00 | 0.00 ~ 7534 9351 | #nLS | 000 ~ 7.34| 1.93 977 Thlst 1.00 | 5.00 ~ 10.99 93.561 | =hs | 5,00 ~ 1099| 1.93 977
4 100kN/mM%{BZ % — - ~ — —|3mZEBZB| — ~ — — — | 100kN/mM%#8% % — - ~ — —|3mZiBZ % - ~ — — —
st 1.00 | 0.00 ~ 6.31 79.33 | FnLSY | 000 ~ 0.00| 1.64 8.31 Thst 1.00 | 5.00 ~ 7.60 79.33 | NS | 500 ~ 7.60| 1.64 8.31
100kN/mM#{BZ % ~ ImEHBZRD ~ 100kN/mM%#8% % ~ IMERBZD ~
zhLst ~ zhst ~ st ~ st ~
100kN/mM%E#BZ % ~ ImEHBZRD ~ 100kN/ Mm% % % ~ 3mERBAD ~
ZhLst ~ st ~ st ~ st ~
100kN/mMZ#2 2 % ~ ImEHBRD ~ 100kN/ Mm%z 5 ~ ImEEZD ~
zhsn ~ zhsn ~ ZznLst ~ ZznLst ~
100kN/MZ#2 2 % ~ 3mEBRD ~ 100kN/ M#%#BZ % ~ ImEBZD ~
Thsn ~ Thsn ~ znLst ~ ZznLst ~
100kN/M%#2Z % ~ 3mEHBRD ~ 100kN/ Mm%z 5 ~ ImEEZD ~
Thsn ~ zhsn ~ ZznLst ~ ZznLst ~
100kN/ MZ#2Z % ~ 3mEHBRD ~ 100kN/ Mm%z 5 ~ ImEREZD ~
ThLlst ~ Thilst ~ TnLst ~ ZznLst ~
100kN/ MZ#2Z % ~ ImEHBRD ~ 100kN/ Mm%z 5 ~ ImEREZD ~
zhsn ~ Thsn ~ ZznLst ~ ZznLst ~
100kN/MZ#2Z % ~ ImEHBRD ~ 100kN/ M%#BZ % ~ ImEEZD ~
Thsn ~ Thsn ~ ZznLst ~ ZFnLst ~
100kN/ MZ#2Z % ~ 3mEHBRD ~ 100kN/ Mm%z 5 ~ ImEREZD ~
Thsn ~ Thsn ~ ZznLst ~ ZznLst ~
100kN/ MZ#2Z % ~ ImEHBRD ~ 100kN/ Mm%z 5 ~ ImEREZD ~
ThLlst ~ Thilst ~ ZnList ~ ZznLst ~
100kN/ MZ#2Z % ~ ImEHBRD ~ 100kN/ Mm%z 5 ~ ImEEZD ~
Thsn ~ zhsn ~ ZznLst ~ ZnLst ~




